gk 2

[FART=1E]
[E] B R AR D RRER IR EE B O BUE IZ DN T



EREEREARRHOBARBREEDOHREICDONT

HEDHRE

ENC I TIE, 40 6 40 7 B 5 1 b SR A RO OB R 42 BT D 2
2 HMME 2 4 B & HBSUERTESA TS,

AHCBNT b, TS E O EROBAN b, BAREICADET, F
KOEBOVHRETHZ EE LW,

FRERPREERE (RIRMZSRERR)

BT WEE Ha AT
= P va 65 5H 6 5A5H 0xsH
"W S S 5y 225H 24FH +25H
n o i oy 175HH 17FH 05 H
= B 104 5H 1065/H +25M
A A—DF
W ORIRAE AR
E3 5= ga) 6500 = iEE
(£ BESHEZED @ 2250 = 24750
e T % ga) 1758 = iEE
*# i\
r 3 \‘\V
RS E B OWIRIRE ORI EH S8 28 / f

7 BB 5 EIEEH 2 BNEEH

<&BHEHEIES>
nﬁﬁﬂfﬂﬁ@:ﬁ RIBEIIHES BB
(10. 175 tH3) (8. 55 1HH) (0. 375 1HH)




